> A
A & 0l & AF 2 E A A
20198 &= =0l & LB A JIEISESIH Atg2e|
AN oHE 2l
A Ago Olch JtXl M2
el AtXI 22l 838 XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Aty ztel ot 44,051,301 61,208,944 217,157,643
= 22,664,360
s 7,279,690
= 14,107,251
Atz ol Oleh JHXI M2 43,845,013 60,375,594 A 16,530,581
= 22,664,360
s 7,279,690
< 13,900,963
At 2tel 838 X 37,900 56,900 A 19,000
Olch X &R MIEM & 08 16,600 16,600 0
201 Let24E] 12,000 12,000 0
01 At 22l 12,000 12,000 0
O&tXI2el?da 29 12,000
202 O4dl 4,600 4,600 0
01 = LH 4 Hi 4,600 4,600 0
O&tX2tel & AXFFHAY =8 4,600
MRNEEHR =& 7,600 7,600 0
202 o4dl 7,600 7,600 0
01 = LH o4 1l 7,600 7,600 0
OUXEEHSR =& 7,600
MBS A 2e| 13,700 12,700 1,000
201 Let2d] 10,000 9,000 1,000
02 2324l 10,000 9,000 1,000
OdE A2l RXE S 10,000
202 Odl 3,700 3,700 0
01 = LH 4 Hi 3,700 3,700 0
oMEEsA e L MEZSEH 3,700
At THOH Ol XI& 26,727,813 39,235,330 A 12,507,517
= 14,274,259
s 7,279,690
< 5,173,864
AREALS MR EH(Z0)-AE 5,974,916 9,726,456 A 3,751,540
= 4,182,441
< 1,792,475
201 Ler24E] 5,000 4,600 400
= 3,500
< 1,500
01 At 2t 2l 5,000 4,600 400
OAZAIY 74 5,000
= 3,500
< 1,500




SN s D
HEH: A=lo Ol DXl M2
CHRl: At THAH Ol & X (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
401 AlEHIZL 2 0HY| 5,969,916 9,721,856 N 3,751,940
= 4,178,941
& 1,790,975
01 Al&H| 5,865,225 9,554,561 AN 3,689,336
OHFREA 4,755,601
= 3,328,920
=} 1,426,681
oONtel g9 1,109,624
= 776,737
& 332,887
02 2teldl| 87,541 141,034 N 53,493
OAMEAY AP 87,541
= 61,279
=} 26,262
03 AlE 2 HH] 17,150 26,261 A9, 111
OAEAE MRS 17,150
= 12,005
& 5,145
ABIAIY AR EA(2D) 9,188,500 15,512,500 N6,324,000
= 7,567,000
== 1,621,500
403 XHXI SHHI S Xt =201 ™ 9,188,500 15,512,500 ~6,324,000
= 7,567,000
& 1,621,500
01 AIXISHHM RS2 X 9,188,500 15,512,500 ANB6,324,000
oA™Y AX 8,500,000
= 7,000,000
= 1,500,000
(OFSPNPNR=Y 688,500
= 567,000
= 121,500
ANBIAIE S22 (210)-2F 229,200 420,200 A 191,000
= 160,440
o= 68,760
401 Al HI L 204 HI 229,200 420,200 A 191,000
= 160,440
o=} 68,760
01 Al&H| 229,200 420,200 A 191,000
OANEAIE P XX 229,200
= 160,440
= 68,760
AMEAIE S22 (=21D) 1,042,950 1,503,650 A 460,700
= 858,900
& 184,050
403 XX SHHS K20 & 1,042,950 1,503,650 A 460,700
= 858,900




(=2

FA: 2tel ot

/\lcl
A Ago Olch JtXl M2
S MY X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 184,050
01 XM A2E X 1,042,950 1,503,650 A 460,700
(OFNR =R FSESHN 680,000
= 560,000
< 120,000
oAt (E4) 362,950
= 298,900
< 64,050
MEAE BSEEIHRD)-NE 263,930 433,732 169,802
2 184,751
S 79,179
401 Al HIZ 201 I 263,930 433,732 A 169,802
= 184,751
< 79,179
01 A& HI 263,930 433,732 A 169,802
OHZEH EBtEHEIt 98,050
= 68,635
< 29,415
otd s EtgddE It 9,000
= 6,300
< 2,700
OAtZ Y EtEdEOt 156,880
= 109,816
= 47,064
AMEAE BRARS(ZD)-HF 67.800 64,890 2,910
=2 47,460
< 20,340
401 AIEHI L 2 CHYI 67,800 64,890 2,910
= 47,460
< 20,340
01 A& HI 67,800 64,890 2,910
OAEX &4 67,800
= 47,460
= 20,340
AEAIE HHEEH (=) 208,930 804,549 A 595,619
= 172,060
< 36,870
308 XX EHH SOl A 208,930 804,549 A 595,619
= 172,060
< 36,870
01 HXNHHBHELS 208,930 804,549 A 595,619
oOAMEgd FZ 119,680
= 98,560
< 21,120
OAZd 32384 4,250
= 3,500
< 750




(=2

FA: 2tel ot

/\lcl
Mz Aol Ol JFXl M2
el METHAHOIY KR (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O AP OFA Kl 85,000
= 70,000
= 15,000
NEHLUHS(oHHEHE ) (=ZD)-2H 200,001 100,000 100,001
= 140,001
= 60,000
401 AlEHIZL £ 0HY| 200,001 100,000 100,001
= 140,001
& 60,000
01 Al& b 200,001 100,000 100,001
OXZXolLS(aloteHE) 200,001
= 140,001
& 60,000
A2 EIYAEIN(2D)-AE 22,714 41,405 A 18,691
= 15,900
= 6,814
401 Al HI L 2 0HHI 22,714 41,405 A 18,691
= 15,900
o= 6,814
01 Al&H| 22,714 41,405 A 18,691
oM =2 EIEHEHEI} 22,714
= 15,900
= 6,814
ASIMEI=2R(=2D) 765,000 1,306,320 A bB41,320
2 630,000
& 135,000
403 XX SHHS K20 & 765,000 0 765,000
= 630,000
& 135,000
01 XIS A=Z2E X 765,000 0 765,000
ONMSME|=ER 765,000
= 630,000
o= 135,000
A THOH L Khel SO (AFAFERS 2ol gt e) (=2 1) 551,785 628,519 NT6,734
= 315,306
= 236,479
308 MXISHMSOIA 551,785 628,519 NT6,734
= 315,306
& 236,479
01 IXHHIMNEXTZ 551,785 628,519 NT6,734
O LFAFEH & &0 2 & 551,785
= 315,306
= 236,479
USAM (YY) (2D)-EE 16,700 15,714 986
= 11,690
o= 5,010




(=2

FA: 2tel ot

/\lcl
Mz Aol Ol JFXl M2
el METHAHOIY KR (S &2)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 gEt24y| 16,700 15,714 986
Fag 11,690
& 5,010
01 AP 22| H| 16,700 15,714 986
OYUTEIEHEI A} 16,700
Fag 11,690
=} 5,010
AT A (X=2)(=21D) 8,191,387 8,673,995 A 482,608
g 7,268,000
= 923,387
403 XX SHHS K20 & 8,191,387 8,673,995 AN 482,608
g 7,268,000
= 923,387
01 XIS A =2E X 8,191,387 8,673,995 AN 482,608
O d = 6,467,152
= 5,730,394
= 736,758
OXIAT 201,150
g 189,000
= 12,150
OFRXEMHE 710,006
= 629, 122
== 80,884
@RIy 481,052
Ry 425,282
& 55,770
ogYzazed 316,881
Fag 280,781
= 36,100
O A& & H 15,146
- 13,421
= 1,725
AAIEHCHE 20 AFTE =& 4,000 3,400 600
202 04| 4,000 3,400 600
01 2L HI 4,000 3,400 600
OAAEITISEE 2 =X 2 WA 4,000
2s5d BN 2 2,593,085 6,765,524 N4 172,439
=2 1,939,113
& 653,972
ASIH S (Z2D)-XH 10,000 16,000 6,000
= 5,000
& 5,000
201 2ot Y| 5,000 8,000 A3,000
=2 2,500
= 2,500
01 AP 2t 2] d| 5,000 8,000 A 3,000




SN AERRD
M Ay

o Olch Jtxl M2
chelr MEEY 2H 2o (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot HEH =LA 5,000
2 2,500
< 2,500
202 (44l 5,000 8,000 A 3,000
= 2,500
= 2,500
01 S LHOIYI 5,000 8,000 A 3,000
oLz Hall S LA 5,000
= 2,500
= 2,500
AHEEM S (I &) (2 2) 765,195 5,135,990 A4,370,795
= 649,810
< 115,385
308 AHAIEHHSOIA 765,195 5,135,990 A4,370,795
= 649,810
< 115,385
01 HXNHHNBMNELS 765,195 5,135,990 A4,370,795
Ot ol S Al 765,195
= 649,810
< 115,385
OlsHExzA2Z(=21) 420,784 384,696 36,088
= 323,680
< 97,104
308 XXM SOl A 420,784 384,696 36,088
= 323,680
= 97,104
01 IXNHHBNEES 420,784 384,696 36,088
OALIRE OlSEH&EzL2Y 420,784
2 323,680
< 97,104
MEH 25XZ(21D) 58,498 58,500 A2
= 45,000
= 13,498
308 XtXIEHHSOIA 58,498 58,500 A2
= 45,000
< 13,498
01 AXHHILEXS 58,498 58,500 A2
oded =3dsXH 58,498
2 45,000
< 13,498
sregai S 2R () (=21) 86,900 0 86,900
= 77,000
< 9,900
403 Ut SHHSA=0l& 86,900 0 86,900
= 77,000
< 9,900




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 HXSHMA2E X 86,900 0 86,900
OO0IS A Tk4HD| 86,900
= 77,000
< 9,900
St THO 2 Rtel EOI(AHEaH S0l 2 H ) (Fa)( 1,019,492 957,622 61,870
=2)
= 784,223
< 235,269
308 A EHHSOIA 1,019,492 957,622 61,870
= 784,223
< 235,269
01 HIXNHHNBMNELS 1,019,492 957,622 61,870
OtEEMNSH LM E 1,019,492
= 784,223
< 235,269
St THO 2 Rtel EHOI(AHEaH S0l 22 H ) (KH)( 36,036 36,036 0
22)
= 27,720
< 8,316
403 UHXSHHSA=0l& 36,036 36,036 0
= 27,720
< 8,316
01 HXHMA=E X 36,036 36,036 0
OuZHMNSUZ LM 36,036
= 27,720
< 8,316
e EsE8sS(=20)-8F 26,680 26,680 0
= 26,680
201 LBH2E | 11,680 11,680 0
= 11,680
01 At 22l 11,680 11,680 0
OWEZ H5ES 11,680
= 11,680
202 04l 15,000 15,000 0
= 15,000
01 = LH o4 1l 15,000 15,000 0
QU ES58S 15,000
= 15,000
s+ XNE - 22 169,500 150,000 19,500
403 Ut SHHSA=0l& 169,500 150,000 19,500
01 X SHHMA2E X 169,500 150,000 19,500
253t 169,500
MY st 14,486,215 14,317,840 168,375
= 6,450,988




SN A2
HEH: A=lo Ol DXl M2
CHe: A2 X A2t (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
== 8,035,227
MAEENEY EE2ES 237,200 237,200 0
201 B9 232,200 224,200 8,000
01 AP 22| H| 225,000 217,000 8,000
ONENE E2ES 225,000
02 2324 7,200 7,200 0
ONEAEA OIHY 3&H S 7,200
202 o4l 5,000 13,000 A 8,000
01 2Ll 5,000 13,000 A 8,000
(ORN=10: R=UyN == 5,000
MASHE ZAES 4,762,690 4,818,100 A B5,410
308 XAHXIGH SO0l & 4,522,660 4,458,100 64,560
01 AIKSHHEMNEX= 4,522,660 4,458,100 64,560
OF AKX AEZAIK HIX 3,036,060
ONt=0llgr &I Xt 1,137,600
OXMEHY A= EES K& 99,000
O0|S& dMENYES XA 250,000
403 XX SHHS K201 & 240,030 360,000 A 119,970
01 XIS A2E X 240,030 360,000 A 119,970
OM=NL=EEE OIS HEZXA 106,110
OMNZBUHLEEE MEUAAI HIXH 117,720
oME MY =2 el 16,200
MNEEWERGES BAZ 25,000 5,000 20,000
301 Bt A= 25,000 5,000 20,000
12 JIEtE2 A= 25,000 5,000 20,000
OMEX ARG HAUS EA2 5,000
OAUMELQE sMOIE AINMZ 20,000
MEST U (ZA)(ZD)-HEF 255,700 266,797 A 11,007
= 102,280
= 153,420
201 et 22,200 33,297 A 11,097
= 8,880
= 13,320
01 AFSR 2t 2| bl 18,200 29,297 A 11,097
OMEEIB AL 2822 3,400
= 1,360
& 2,040
ONENMNS2EARAF = 14,800
= 5,920
= 8,880
02 =224 H| 4,000 4,000 0




SA AR BRI
A Ago Olch JtXl M2
Sl AEYX MV (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot =Zgaes 29 4,000
= 1,600
< 2,400
307 21201 A 233,500 233,500 0
= 93,400
= 140,100
05 RIZt2IEt = 233,500 233,500 0
ot s ¥ ¢ 233,500
= 93,400
= 140,100
ArE XA (B a)(=1) 582,859 548,730 34,129
= 401,971
< 180,888
308 AHAIEHHSOIA 582,859 548,730 34,129
= 401,971
< 180,888
01 HXNHHNBMNELS 582,859 548,730 34,129
O S X (A4 582,859
= 401,971
< 180,888
SrEZXIHE(H2) (=12 710,731 922,779 A 212,048
= 490,160
< 220,571
403 MtXISHH S =0l & 710,731 922,779 A 212,048
= 490,160
< 220,571
01 XM A=2E X 710,731 922,779 A 212,048
O/MEUXIHEH(XtE) 710,731
= 490,160
< 220,571
At THOH 2 Ktel SHON(MEMZHLESH)(2D) 7,912,035 7,519,234 392,801
= 5,456,577
= 2,455,458
308 XtXIEHHSOIA 7,912,035 7,519,234 392,801
= 5,456,577
< 2,455,458
01 AXHHILEXS 7,912,035 7,519,234 392,801
OM=EHZ M & & SHTH 7,912,035
= 5,456,577
< 2,455,458
SIS EHRLZC 154,615 789,000 A 634,385
SHEIA L 22 154,615 789,000 A 634,385
SIGSEI} o AMEE 322 154,615 0 154,615
401 AIEHI L 20 154,615 0 154,615
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